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24. There are 576 boys and 448 girls in a ZA.W‘!'UMWM'
school that are to be divided into equal fod ad azs! a1 asfdal & sEw squr
sections of either boys or girls alone. Find the ¥ fRwifra g o= 81 §9 voR &3 srpumit

minimum number of sections thus formed. ﬁwmmmu
a) 24 a) 24
b) 3 b) 32

<) 16 \9/ﬁ
d) None of these d) Fﬁﬁﬂfﬂﬂ







25. Four bells ring at the intervals of 6,8,12 25. U Wfeul 6, 8,12 X 18 APT & A W
and 18 seconds. They start ringing together at TWd! 813 12 T3 U WY 794 ovrd 81 @
12 o’ clock. How many times will they ring 12 fire & v 2 fvaft @ oo g a2
together during the next 12 minutes ?
a) 9 M LD 2D h a) 9 k\\%’
vn/m | 60= G \9/‘0 L.(.‘V\(é) ._,l l )
o 11 }l)}ﬁ—o o 11 7R Zec
d) 12 d) 12 RS - .
7704
XX
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26. A number consists of three digits of which zswmflahdvﬂatwaihm

the middle one is zero and their sumis 4.1f {0 8 3Y 371 41 4 ¥1 o wd ol aifam
the number formed by interchanging the first «ﬁwmma«ma
and last digit is greater than the number itself 198 3fU® 8, @t ugeht 3y aifaw o & Fa @
by 198, then the difference between the first 3aT# ?
and last digit is ? UPSC PT 2018

a) 1 a) 1

N & b2

c) 3 o &
d) 4 d) 4
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27. While writing all the numbers from 700 to 27. 700 & 1000 3% ¥ ¥\t Wanal #! e
1000, how many numbers occur in which the wwg Ut fsa-ft want andt & R Av2 &
digit at hundreds place is greater than the I 1 3® ZETE & W ¥ 3w A If® gar
digit at ten’s place, and digit at the ten'splace AU BEF WFA FIT BPE I WA S
is greater than the digit at unit's place? IvAafmaard?
UPSC PT 2018

a) 61 a) 61

b) b) 64

c) 85 &) 85

d) 91 d) 91
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30. There are 5 hobby clubs in a college -
photography, yachting, chess, electronics and
gardening. The gardening group meets every
second day, the electronics group meets every
third day, the chess group meets every fourth
day, the yachting group meets every fifth day
and the photography group meets every sixth
day. How many times do all the five groups
meet on the same day within 180 days ?
UPSC PT 2013, 2016
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40. What is the greatest length x such that 3 4o gy 7t § (3. Ym a8 . x 5 ot

mmdl%mmmmulﬁphsofx?
UPSC PT 2020
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48. A bell rings every 18 minutes. A second umllmWWMNiﬂ'lm

bell rings every 24 minutes. A third bell rings 7z # uo gudl v&t audt 81 vl 32 e A
every 32 minutes. If all the three bells ring at U® #wfl 48t aurdt 81 of? H=1 ofeal gaw s
the same time at 8 o'clock in the moming, at ¥ U® § wwy w ol @t ag f5w wwg 2
what other time will they all ring together ? ¥} U@ w1y ot 2

UPSC PT 2014 L_QN\(]KQ\“()?»{)
a) 12:40 hrs a) 12:40 hrs i .
M 12:48 hrs _by12: 48 hrs lgtw\“’]
¢) 12:56 hrs &) 12:56 hrs

d) 13:04 hrs d) 13:04 hrs
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